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11th Physics (2019 — 20)

(1stQ, #1 Mini Test)

Class No. Name S& Z 4]//{4J s

In calculation problems, describe equations
clearly and systematically enough to show
how to solve the problems.

Pi n=23.141593
mile 1 mi=1.609 km

4 pt/question x 13 questions = 52 pt Max 50 pt /[Total 50 ptl
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(Q1) A child rides a pony on a circular track whose radius is 4.8 m.

(Q1-a) Find the distance traveled and the magnitude of
displacement after the child has gone halfway around the track.

(Q1-b) Find the distance and the magnitude of displacement after a
complete circuit of the track.
Equations

A) Aisformce = zih
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(Q2) You jog at 9.5 km/h for 8.0 km, then you jump into a car and
drive an additional 16 km. With what average speed must you
drive your car if your average speed for the entire 24 km is to be 22

km/h?
Equations
a¢ = L3 !
nbhk v sk
2 e —— ,?.0 - ﬁw
Ej‘r,ro?DEA i 9.¢ 0.842 Rk
22
1070 0. 542
= 0.2¢8 (oS f)
PO = 44. 51 —> 60
o, 24 ¥

L& B/t + 2.5

2
Keio Cllcac&zmy qf New York

(Q1-a) Answer
Distance :

/& ar

Magnitude of displacement : ?
b A

(Q1-b) Answer Distance : PO Ay

Magnitude of displacement : O

(Q2) Answer

A0 f?—'»_'-/ho
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(Q3) The International Express, Amtrak Adirondack departs at
9:30 am at Montreal, Canada and arrives at 8:20 pm at New York,
NY — Penn Station. The distance between Montreal and New York
1§ 613 km.

(@3-a) What is the average speed in km/h?

(Q3-b) In the above question, what is the average speed in m/s?

(Equations)
Q20
~) _§:30 Y
(08 &6 wiO« o5 = JE.033 [F]
it _
bS’DW
(3sF)
() V= b13 e fs 8 b 4 [RR]D
e #37 " (Q3-a) Answer
$h b ks | |
F48
E/w"' [0"3 M '/& B Q31 A;sw‘rw'7 M/S
(t) ¢4.89 5" 7B i
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(4,5) Some of the above figures represent graphs expressing four types
of motion for a body moving on a straight line.
expressing the following motions from A — G.  Answer “Nothing” if no
graph can be chosen.

(4-a) A body is at rest.

(4-b) A body is moving with a constant speed.

(5-¢) A body is moving with a constant acceleration.

(5-d) A body is moving with changing acceleration.

(Q6, 7) The figure shows x-# graph or the relation between displacement

and time.

(6) In the seven points, A - G, which has the highest positive
instantaneous velocity?

(7) In the two points, A — G, two points have the almost the same
instantaneous velocity. Find the two points.

A el
“+ 2

4
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Choose all of the graphs

(Q4-a) Answer

B

(Q4-b) Answer

A E

7

(Q5-¢) Answer

C.,D,F

(Q5-d) Answer
G

E
x
_ c F
[ D
£
£ B
8 G
o
A
Time [s] ’
(Q6) Answer
B
(Q7) Answer
E awd G
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(Q8,9) The figure shown below visualizes a particle’s
motion by sketching its position as a function of time.
In this case the particle moves in the positive X
direction for 1 s, then reverses direction and then
reverse direction again.

5s

d —=% 2y
4s ©— o

t=05°‘—)TS
|

0o 1 2 3 4U§;w

(Q8) Replot the same information with an X—versus-7
graph where the vertical and horizontal axes
represent the position, X, and time, 7.

(Q9) Find the average velocity for the particle from t=0

tot=5s.
(Equations)
Ay = ~22 Yr-uve 0-20
4 s Leg-¢; S.0~0
-2.0

= <040 [v5)

§.0

o.Y H/s
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(Q8)  Answer

Draw graph.

i ot e f et o

~

(Q9) Answer

~0.¢0 ™M/

; O

(LY %

+t2
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(Q10, 11) Landing with a speed of 81.9 m/s, and the travelling
due south, a jet comes to rest in 949 m. Assume that the jet
slows with constant acceleration.

(Q10) Find the magnitude and direction of its acceleration.

(Q11) Find how long does it take from landing to rest.

(Equations)
e fs P =
e = 817 thf = 8
N 7 —2 Sefb
=& S
e
(

V-
=5 = 2% ,
o - 8/7 — 3. 83¢ —> -3.43 L~
B > x P¥Ff
([l) _ /(}.f - UAI
- L
—» t = __'U_L’%_?é"
_ V- &1 7
_3 S‘f??' (Q10) Answer &
= 23,07 —23.2 0] ( '
(Q11) Answer Lﬂ‘/ﬂ f’; |
23, 2 %
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(12) A red car is driving at a constant speed of 17.9 m/s
and passes the police car. At that instant the police car
begins their pursuit because the speed of the red car is too
high. The police car accelerates with a constant
acceleration of 4.51 m/s2. Assume the red car maintains
a constant velocity.

(12-a) How long does it take for the police car catch the red
car?

a=451m/s?

(12-b) How far has the police car traveled in this time.
(Equations)

() Kot = T = 17.91
Xp = Uit rgat = 0wtencst’

Heat=Hp [958 = =~ .61 €5

goe 2x/7. 7 = F.93§ 57 LU 5]
L 57
(%) Xp = —:e’_xg,y/x 7,93&’2

= g2, —> /%2 [w)

(Q12-a) Answer

7 94 5

[14% 0
(Q12-b) Answer
/42
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(Q13) To celebrate a victory, a pitcher throws her glove
straight upward with an initial velocity of 6.0 m/s at the
height 2.0 m from the ground.
20m
(Q13-a) How long does it take for the glove to reach the
maximum height?

(Q13-b) How high is the maximum point from the ground?

(x) Yo = Ve ~38 | ¥y=0, v=to s  g=-7fo

, Vs -V o -40 i
L = - e = = 0. 46/2 —> 0. 61 (5]

- 3§, 0

(%) 7)‘;— U; ==23d

g - V-V 0 - 4 P
~2§ -2x 950 ’

/8¢ [w]+ 2.0 [w) = 3¢¢% [w) —> 3,8 [»0

(Q13-a) Answer
0.6/ 5

(Q13-b) Answer

4, &

Your opinions
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